

Pay Estimate Created Date: June 15, 2024

Progress Estimate No. 2	umber	Contract ID Prime Contractor	230915-B07 Emery Sapp & So		y Period Start December y Period End June 15,		3 Original Contract Amount Net Change Order Amount Current Contract Amount	t \$0.00
Approval Date								By User
June 17, 2024			Generated and A	Approved (and should be considered	d Draft) at	the Project Office Level by	vierss
June 17, 2024		Resident Engineer Level by	vierss					
June 18, 2024			F	Reviewed a	and Approved at the Cent	tral Office	Controllers Office Level by	ramses1
Original Completion	n Date	Current Con	npletion Date	Actu	al Completion Date	%	of Current Contract Amoun	t Complete
November 1, 202	24	Novembe	er 1, 2024				18.93%	
	Contrac	t Informational Da	tes		Milestones			
Date Description	Origina	I Completion Date	Current Comple	tion Date	No Milestones Exist for	Contract		
Acceptance Date								
Awarded Date	October	12, 2023	October 12, 2023					
Letting Date	Septem	ber 15, 2023	September 15, 20)23				
Notice to Proceed Date	Novemb	oer 6, 2023	November 6, 202	ovember 6, 2023				
Open to Traffic Date								
Work Began Date								

Contract Total Pay For Estimate No. 2				
	This Estimate	Previous	To Date	
230915-B07				
Total Posted Items Pay	\$1,199,792.37	\$25,705.00	\$1,225,497.37	
Gross Item Adjustments	(\$19,606.69)	\$0.00	(\$19,606.69)	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		<mark>\$25,705.00</mark>	\$1,205,890.68	
Contract Total Payable This Estimate:	\$1,180,185.68			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JST0053	0050	4071005	TACK COAT	GAL	\$3.000	5,575	\$16,725.00
	0070	6161005	CONSTRUCTION SIGNS	SQFT	\$9.800	870	\$8,526.00
	0080	6161025	CHANNELIZER (TRIM LINE)	\$700.00			
	0091	6181000	MOBILIZATION	LS	\$192,795.220	0.5	\$96,397.6
	0150	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$5.500	282	\$1,551.00
	0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$10.000	911	\$9,110.0
	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$103.000	6,192.48	\$637,825.4
	0340	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$104.000	3,834.13	\$398,749.5
	0350	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	TONS	\$207.000	4	\$828.0
	0360	4071005	TACK COAT	GAL	\$3.000	3,675	\$11,025.0
	0380	6161005	CONSTRUCTION SIGNS	SQFT	\$10.000	1,035	\$10,350.0
	0390	6161025	CHANNELIZER (TRIM LINE)	EA	\$27.000	25	\$675.0
	0410	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$8.000	872	\$6,976.0
	0420	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	SQYD	\$29.000	12.2	\$353.8
Project JS	<mark>T0053 - To</mark>	otal					\$1,199,792.3
Overall - T	otal						\$1,199,792.37

Contract Adjustments This Estimate



Pay Estimate Created Date: June 15, 2024

Progre	ss Esti 2	mate Number	Contract ID Prime Contra	230915 Ictor Emery S			ginal Contrac Change Orde rent Contract	er Amount \$	
ine Item .	Adjustr	nents This Estin	nate						
Project Number	Line No.	Item Des	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0053	0210	MIXTU	S PAVEMENT RE PG58-28H E LEVELING)	Overrun			-102.78	\$103.00	(\$10,586.34
	0210	MIXTU	S PAVEMENT RE PG58-28H E LEVELING)	Material			-192.48	\$103.00	(\$19,825.44
	0210	MIXTU	S PAVEMENT RE PG58-28H E LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user liebhd overridding Payment Estimate Exception 1 on the current Payment Estimate.	192.48	\$103.00	\$19,825.44
	0210	MIXTU	S PAVEMENT RE PG58-28H E LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment				(\$5,573.23
	0340	MIXTU	S PAVEMENT RE PG58-28H E LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment				(\$3,447.12
Total	· · · · · ·								(\$19,606.69



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information							
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
JST0053		Resurface	Various	MACON			ound, on Route CC near Levick Mill, o FF near Levick Mill, and add alternate	n Route K from Cairo to Route 15, add Route M near Middle Grove					
Totals by	Job Numbe	ers											
								-					
JST0053					This Estimate	Previous	To Date	1					
JST0053		ed Item Pay			\$1,199,792.37	\$25,705.00	\$1,225,497.37]					
JST0053					\$1,199,792.37 (\$19,606.69)	\$25,705.00 \$0.00	\$1,225,497.37 (\$19,606.69)						
JST0053		ed Item Pay		Item Pay	\$1,199,792.37	\$25,705.00	\$1,225,497.37						
JST0053		ed Item Pay s Item Adjustm		Item Pay	\$1,199,792.37 (\$19,606.69)	\$25,705.00 \$0.00	\$1,225,497.37 (\$19,606.69)						
JST0053	Gross	ed Item Pay s Item Adjustm		Item Pay	\$1,199,792.37 (\$19,606.69) \$1,180,185.68	\$25,705.00 \$0.00 \$25,705.00	\$1,225,497.37 (\$19,606.69) \$1,205,890.68						
JST0053	Gross Incen Disin	ed Item Pay s Item Adjustm tive	Gross	Item Pay	\$1,199,792.37 (\$19,606.69) \$1,180,185.68 \$0.00	\$25,705.00 \$0.00 \$25,705.00 \$0.00	\$1,225,497.37 (\$19,606.69) \$1,205,890.68 \$0.00						

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JST0053, Item 4020521, Project Item Line Number 0210, Material Set 4020521, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	No Remark was entered by Engineer	LIEBHD	Overridden
Estimate Exception Type: Item Overrun: Contract 230915-B07, Contract Project JST0053, Project Item Line Number 0210, Contract Line Item Number 0210, Item 4020521, Minor Item.	No Remark was entered by Engineer	LIEBHD	Acknowledged

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
230915-B07	JST0053	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$7,400.00	\$0.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	9.00	0.00	9.00	100F	0.00	\$1,550.00	\$0.00
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	668.00	0.00	668.00	TONS	0.00	\$130.00	\$0.00
		0001	0040	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	1,330.00	0.00	1,330.00	TONS	0.00	\$150.00	\$0.00
		0001	0050	4071005	TACK COAT	35,563.00	0.00	35,563.00	GAL	5,575.00	\$3.00	\$16,725.00
		0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	8.00	0.00	8.00	EA	0.00	\$1,750.00	\$0.00
		0001	0070	6161005	CONSTRUCTION SIGNS	4,552.00	0.00	4,552.00	SQFT	870.00	\$9.80	\$8,526.00
		0001	0080	6161025	CHANNELIZER (TRIM LINE)	400.00	0.00	400.00	EA	25.00	\$28.00	\$700.00
		0001	0090	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$218,500.22	\$0.00
		0001	0091	6181000	MOBILIZATION	0.00	1.00	1.00	LS	0.50	\$192,795.22	\$96,397.61
		0001	0100	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	24.00	0.00	24.00	LF	0.00	\$33.00	\$0.00
		0001	0110	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	0.00	\$1,650.00	\$0.00
		0001	0120	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	228,461.00	0.00	228,461.00	LF	47,798.00	\$0.15	\$7,169.70
		0001	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	266,987.00	0.00	266,987.00	LF	36,138.00	\$0.14	\$5,059.32
		0001	0140	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	876.00	0.00	876.00	LF	701.00	\$1.09	\$764.09
		0001	0150	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	282.00	0.00	282.00	SQYD	282.00	\$5.50	\$1,551.00
		0001	0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,366.00	0.00	4,366.00	SQYD	911.00	\$10.00	\$9,110.00
		0001	0170	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	3,320.00	0.00	3,320.00	SQYD	0.00	\$12.00	\$0.00
		0010	0180	6061074	MGS HEIGHT AND BLOCK TRANSITION	12.00	0.00	12.00	EA	0.00	\$900.00	\$0.00
		0010	0190	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	12.00	0.00	12.00	EA	0.00	\$3,700.00	\$0.00
		0050	0200	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	5,585.30	0.00	5,585.30	TONS	0.00	\$93.00	\$0.00
		0051	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	6,089.70	0.00	6,089.70	TONS	6,192.48	\$103.00	\$637,825.44
		0052	0220	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	13,706.20	0.00	13,706.20	TONS	0.00	\$93.00	\$0.00
		0053	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	11,265.30	0.00	11,265.30	TONS	0.00	\$98.00	\$0.00
		0054	0240	3105002	GRAVEL (A) OR CRUSHED STONE (B)	56.00	0.00	56.00	TONS	0.00	\$104.00	\$0.00
		0054	0250	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,649.20	0.00	2,649.20	TONS	0.00	\$93.00	\$0.00
		0054	0260	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	40.00	0.00	40.00	TONS	0.00	\$223.00	\$0.00
		0054	0270	4071005	TACK COAT	2,541.00	0.00	2,541.00	GAL	0.00	\$3.00	\$0.00
		0054	0280	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,750.00	\$0.00
		0054	0290	6161005	CONSTRUCTION SIGNS	788.00	0.00	788.00	SQFT	0.00	\$10.00	\$0.00
		0054	0300	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	0.00	\$28.00	\$0.00
		0054	0310	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT. TYPE P BEADS	23,316.00	0.00	23,316.00	LF	0.00	\$0.14	\$0.00
		0054	0320	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	100.00	0.00	100.00	SQYD	0.00	\$32.00	\$0.00
		0055	0330	3105002	GRAVEL (A) OR CRUSHED STONE (B)	124.00	0.00	124.00	TONS	0.00	\$85.00	\$0.00
		0055	0340	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,024.10	0.00	4,024.10	TONS	3,834.13	\$104.00	\$398,749.52
		0055	0350	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	60.00	0.00	60.00	TONS	4.00	\$207.00	\$828.00
		0055	0360	4071005	TACK COAT	3,865.00	0.00	3,865.00	GAL	3,675.00	\$3.00	\$11,025.00
		0055	0370	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,750.00	\$0.00
		0055	0380	6161005	CONSTRUCTION SIGNS	1,089.00	0.00	1,089.00	SQFT	1,035.00	\$10.00	\$10,350.00
		0055	0390	6161025	CHANNELIZER (TRIM LINE)	25.00	0.00	25.00	EA	25.00	\$27.00	\$675.00
		0055	0400	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	37,491.00	0.00	37,491.00	LF	7,498.00	\$0.14	\$1,049.72
		0055	0410	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	872.00	0.00	872.00	SQYD	872.00	\$8.00	\$6,976.00
		0055	0420	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	150.00	0.00	150.00	SQYD	12.20	\$29.00	\$353.80

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30915-B07	JST0053	0056	0430	3105002	GRAVEL (A) OR CRUSHED STONE (B)	230.00	0.00	230.00	TONS	0.00	\$112.00	\$0.00
		0056	0440	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	11,646.90	0.00	11,646.90	TONS	0.00	\$92.00	\$0.00
		0056	0450	4029910	MISC.REPLACEMENT OF DAMAGED PAVEMENT	180.00	0.00	180.00	TONS	0.00	\$230.00	\$0.00
		0056	0460	4071005	TACK COAT	11,447.00	0.00	11,447.00	GAL	0.00	\$3.00	\$0.00
		0056	0470	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,750.00	\$0.00
		0056	0480	6161005	CONSTRUCTION SIGNS	1,384.00	0.00	1,384.00	SQFT	0.00	\$10.00	\$0.00
		0056	0490	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$28.00	\$0.00
		0056	0500	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	76,295.00	0.00	76,295.00	LF	0.00	\$0.15	\$0.00
		0056	0510	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	95,877.00	0.00	95,877.00	LF	0.00	\$0.14	\$0.00
		0056	0520	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	3,733.00	0.00	3,733.00	SQYD	0.00	\$2.25	\$0.00
		0056	0530	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,340.00	0.00	1,340.00	SQYD	0.00	\$13.00	\$0.00
		0056	0540	6229905	MISC.REMOVAL OF DAMAGED PAVEMENT	460.00	0.00	460.00	SQYD	0.00	\$28.00	\$0.00
		0001	5001	6189901	MISC.Contract Bond	0.00	1.00	1.00	LS	1.00	\$25,705.00	\$25,705.00
	Project J	ST0053 - To	otal Value	e Posted to D	ate as of Report Generated Date	1						\$1,239,540.20
30915-B07 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$1,239,540.20



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

ne nber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	4029910	MISC. BITUMINOUS PAVEMENT (SURF. LEVEL)	6/6/24	6/7/24	4.00	TONS	Rte. AA - EB	0.417				5' x 22' x 0.5'
			6/11/24	6/12/24	-4.00	TONS	Rte. AA	0.417				
0050	4071005	TACK COAT	6/7/24	6/10/24	2,191.00	GAL	Rte. DD - WB	5.819		1.055		
			6/10/24	6/12/24	1,777.00	GAL	Rte. C - EB	5.819		2.039		
			6/11/24	6/12/24	1,607.00	GAL	Rte. DD WB - 0.078 to 1.055 EB - 0.078 to 2.039	0.078		2.039		
0070	6161005	CONSTRUCTION SIGNS	6/4/24	6/5/24	870.00	SQFT	Rte. DD	0.078		5.819		
0080	6161025	CHANNELIZER (TRIM LINE)	6/4/24	6/5/24	25.00	EA	Rte. AA	0.000		3.880		
0091	6181000	MOBILIZATION	6/11/24	6/12/24	0.50	LS	Rte. DD	0.078		5.819		
0150	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	6/4/24	6/5/24	282.00	SQYD	Rte. DD	3.292		3.316		
0160	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/4/24	6/5/24	911.00	SQYD	Rte. DD	0.078		5.819		
0170	6229905	MISC. COLDMILLING	6/6/24	6/7/24	12.20	SQYD	Rte. AA - EB	0.417				5' x 22'
			6/11/24	6/12/24	-12.20	SQYD	Rte. AA	0.417				
0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	6/7/24	6/10/24	2,454.24	TONS	Rte. DD - WB	5.819		1.055		
			6/10/24	6/12/24	2,077.52	TONS	Rte. C - EB	5.819		2.039		
			6/11/24	6/12/24	1,660.72	TONS	Rte. DD WB - 0.078 to 1.055 EB - 0.078 to 2.039	0.078		2.039		
0340	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	6/5/24	6/6/24	1,772.41	TONS	Rte. AA - WB	3.880		0.000		
			6/6/24	6/7/24	2,061.72	TONS	Rte. AA - EB	3.880		0.000		
0350	4029910	MISC. BITUMINOUS PAVEMENT (SURF. LEVEL)	6/11/24	6/12/24	4.00	TONS	Rte. AA - EB	0.417				
0360	4071005	TACK COAT	6/5/24	6/6/24	1,874.00	GAL	Rte. AA - WB	3.880		0.000		
			6/6/24	6/7/24	1,801.00	GAL	Rte. AA - EB	3.880		0.000		
0380	6161005	CONSTRUCTION SIGNS	6/4/24	6/5/24	1,035.00	SQFT	Rte. AA	0.000		3.880		
0390	6161025	CHANNELIZER (TRIM LINE)	6/4/24	6/5/24	25.00	EA	Rte. DD	0.078		5.819		
0410	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6/4/24	6/5/24	872.00	SQYD	Rte. AA	0.000		2.963		
0420	6229905	MISC. COLDMILLING	6/11/24	6/12/24	12.20	SQYD	Rte. AA - EB	0.417				



Line Item Adjustments by Estimate

Jun 19, 2024

Contract ID: 230915-B07

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0053	0210	BITUMINOUS PAVEMENT MIXTURE	Material	турс	2	Jun 15, 2024	SYSTEM	\$19,825.44	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user liebhd overridding Payment Estimate Exception 1 on the current Payment Estimate.
		PG58-22H (SUR			2	Jun 15, 2024	SYSTEM	(\$19,825.44)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	2	Jun 17, 2024	vierss	(\$5,573.23)	
				ACAD - Tota	al			(\$5,573.23)	
			Other Item	Adjustment -	Total			(\$5,573.23)	
			Overrun	Overrun	2	Jun 15, 2024	SYSTEM	(\$10,586.34)	
				Overrun - T	otal			(\$10,586.34)	
			Overrun - T	otal				(\$10,586.34)	
	0210 -	Total						(\$16,159.57)	
	0340	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	2	Jun 17, 2024	vierss	(\$3,447.12)	
		MIXTURE PG58-22H		ACAD - Tota	al			(\$3,447.12)	
		(SUR	Other Item /	Adjustment -	Total			(\$3,447.12)	
	0340 -	Total						(\$3,447.12)	
JST0053 -	Total							(\$19,606.69)	
Overall -	Total							(\$19,606.69)	



There are no contract adjustments to display for this contract.